2013 Roosevelt (snow)
Fest: 0.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0000 UTC Fri 01 Feb 13 (1700 MST Thu 31 Jan 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

500

T = 0.0 Td = -3.3 \u
600| LI = 8.3 LCL = 719.
K = 14 LFC = 0.
TT = 38 EL = 0.\
700| sW1 = 10.9 CCL = 618. X
PW = 0.71 VGP = 0.0
800| CAPE = 0 SWEAT= 44> 2l -

CIN = 0 HWBZ= 0. \\/(% T . ‘l/‘%'r\ ,' X
900| Te =  14.7 SHEAR= 45. < AU S SN VR I e -
SREH = 0 LAPSE= 5. o\)/‘\\ /\ \/ \ \/ \ N A
1000 LELL = 298/36 AN A

Full bar?:
5ms”

Parcel

Info




2013 Roosevelt (snow)
Fest: 3.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Fri 01 Feb 13 (ZOOO MST Thu 31 Jan 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

>00 Parcel
T = -5.2
600| LI = 9.2
K = 4
1T = 28
700| sy1 = 17.0
PW = 0.70
800/ CAPE = 0
CIN = 0
900! Tc = 1.4
SREH = 2
1000| CELL = 305/36

Info

Td = -8.2 N\
LCL = 737.

LFC = 0.

L = 0.\
CCL = 649,

VGP = 0.0
SWEAT= 42
HWBZ= 0. R
SHEAR= 36

N g 7

LAPSE= 5. 6\)/\ /\/‘\/ \ \\
7 4
\

N\




2013 Roosevelt (snow)

Fest:

6.00 h

Temperature

Dewpoint temperature
Horizontal wind vectors x,y=141.27,171.61

100

200

300

400

500

600

700

800

900
1000

x,y=141.27,171.61
x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Fri 01 Feb 13 (2300 MST Thu 31 Jan 13)
lat,lon= 40.26,-110.04

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5ms”

o

0

Parcel

T = -6.2
LT = 10.1
K = 0
T = 27
SWI = 18.0
PW = 0.70
CAPE = 0
CIN = 0
Tc = 11.6
SREH = 0
CELL = 298/40

Info

Td = -9.1
LCL = 743.
LFC = 0.
EL = 0.~
CCL = 643.
VGP = 0.0
SWEAT=

HWBZ=
SHEAR=

0.
42

/

LAPSE= 56\)/\ /\/(\/ \ )\/




2013 Roosevelt (snow)
Fest: 9.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Fri 01 Feb 13 (0200 MST Fri 01 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barb:
m s'l?

100

200

/F

300

o

FEFEFE F £ F

400 N
500 \{U\
T = =79 Td= -9.9 X
600| LI =  10.7 LCL = 749,
K = -1 LFC = 0.
T = 25 EL = 0.\
700| sw1 = 19.5 CCL = 650.
P =  0.69 VGP = 0.0
800/ CAPE = 0 SWEAT= 43> % i - - -

CIN = 0 HWBZ= 0. N =t A " \l/\[lr“ LA
900| Te = 10.6 SHEAR= 47, sy Ny ™S /0 Ny A S il gt e
SREH = 0 LAPSE= 5.5 \)/*\\ N /y\/ \ S

_ N A
1000 CELL = 294744 SN 78 A N VA W 74 N A A




2013 Roosevelt (snow)
Fest:  12.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100 LLK
200
300 %
. Q 4%\
400 SEAR
500 * =
Parcel Info
T = -9.7 Td = -10.1
600| L1 =  11.3 LCL = 763.
K = -4 LFC = 0.
TT = 23 EL = 0.3
700) sy1 = 21.1 ccL = 628,
PW = 0.62 VGP = 0.0 ~ /
800| CAPE = 0 SWEAT= 53> \ S
CIN = 0 HWBZ= 0.~ %—% . ll/ Za
900| Te =  13.1 SHEAR= 57. AN S 2V A e s
SREH = 37 LAPSE= 5.6 \)/ . /\ NS \ )\/\x PN ol
1000| CELL = 302/49 A

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Fri 01 Feb 13 (0500 MST Fri 01 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5ms”




2013 Roosevelt (snow)
Fest:  15.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61

x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Fri 01 Feb 13 (0800 MST Fri 01 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barl?:
5ms”

200

300

400

500

600

700

800
CIN = 0 HwBZ=
900]| Tc = 14.5 SHEAR=
SREH = 79
1000| CELL =

0.
57.

)
LAPSE= 5.1 \)/ . /\/V\‘x \ \\*/ \
307/48 A A \




2013 Roosevelt (snow)
Fest:  18.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Fri 01 Feb 13 (1100 MST Fri 01 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

500

600 .8 LCL
K -3 LFC
TT = 24 EL
700| sy1 = 19.6 cCL :
PW =  0.54 VGP = 0.0 .
800| CAPE = 0 SWEAT= 56> Ll
CIN = 0 HWBZ= 0.~ /(é/
900| Tc 17.2 SHEAR= 57. ™\
SREH = 64 LAPSE= 5.1 \)/‘\
1000| CELL = 306/48 :

Full barb:
m s'l?

o




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  21.00 h Valid: 2100 UTC Fri 01 Feb 13 (1400 MST Fri 01 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barl?:
5ms”

N

100

200

300

400

500
600

:
700 4

6
800 O < ~ - N ~ ~

0 NN /< 8 <\ Yoo S .
900| Tc =  15.8 SHEAR= 54. AR\ (25 NS NIVASEE] SN A S S =

SREH = 7 LAPSE= 5.0 NN A ANt L L S L

1000 CELL = 307/46 XN N A




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fecst:  24.00 h Valid: 0000 UTC Sat 02 Feb 13 (1700 MST Fri 01 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barb:
u 2@

100

£

200

A~~~ F F F

300

o

400
500 ~
Parcel Info
T = 4.1 Td =
600| LI = 12.5 LCL =
K = -3 LFC =
T = 29 EL =
700| sy1 = 16.8 cCL = N
PW = 0.55 VGP = A
CAPE = 0 SWEAT \ I

800 =
CIN = 0 HWBZ= / é‘s\ / \\/ \ S

900| Tc = 17.4 SHEAR= 52. AN:
LAPSE= 5. 2\)/~ /\/V\/ \ /\ PREYAW
1000/ CELL A At

\

w
O
m
T
I
w
(@]
~
> O
w




2013 Roosevelt (snow)

Fest:

27.00 h

Temperature
Dewpoint temperature

Horizontal wind vectors x,y=141.27,171.61

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Sat 02 Feb 13 (2000 MST Fri 01 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

x,y=141.27,171.61
x,y=141.27,171.61

Full bar?:
5ms”

N

4

Parcel
T = -7.7
LT = 13.4
K = -12
1T = 23
SWI = 20.7
PW = 0.52
CAPE = 0
CIN = 0
Tec = 17.9
SREH = 0
CELL = 310/39

Info

Td =

LCL =
LFC =
EL =
CCL =
VGP =
SWEAT=
HWBZ=
SHEAR=
LAPSE=

587 N Y < 7
N . ™
0.0 VA y\(é ~~\ / B//‘/\\ A
47 p ED7AN A ¥ / e _
“ \ 5 1A | X T

0. \% ’W/// N /// / SRR RN

46 < ~o ~|| N <
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55\)/

1
|
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\ T
/ S / N/ *$\
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\
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—
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2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  30.00 h Valid: 0600 UTC Sat 02 Feb 13 (2300 MST Fri 01 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

N Full bark:

100

200

300

o

400

500

T = 9.6 Td =
600| L1 =  14.3 LCL
K = 14 LFC
T - 19 EL
700] sy1 23.2 CCL
PW =  0.50 VGP
800/ CAPE = 0 SWEAT=
CIN 0 HWBZ= _
900| Tc = 18.1 SHEAR= 45. . . \ \ ,
SREH = 0 LAPSE= 5.0 \)/‘\ N \/&‘ s
1000| CELL = 311/39 N AN AN VA N A4 N L VA




2013 Roosevelt (snow)
Fest:  33.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61

x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Sat 02 Feb 13 (0200 MST Sat 02 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = -10.0 Td =
600 LI = 14.7 LCL =
K = -18 LFC =
T = 18 EL =
700| sy1 = 23.7 ccL =
PW = 0.49 VGP =

I}
(@)

800/ CAPE SWEAT=

CIN = 0 HWBZ=

w
O
m
T
I
~
w O
0]

1000]| CELL

L

S
- _ 72 /\ ) Vﬂ | A
900| Tc = 18.8 SHEAR- 40 ‘\M //\ R N . N

|
LAPSE= 5.1 \)/ / " \ RS
SGNVNEN A T A BN
N i i




2013 Roosevelt (snow)
Fest:  36.00 h

Temperature

x,y=141.27,171.61
x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Sat 02 Feb 13 (0500 MST Sat 02 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Dewpoint temperature
Horizontal wind vectors x,y=141.27,1

71.61

lat,lon= 40.26,-110.04

Full barl?:
5ms”

100

200

300

400

o

500

Td

600| LT = 15.7 LCL
K = -23 LFC
T = 17 EL
700| sy1 = 242 ccL = :
PW = 0.48 VGP = 0.0
800| CAPE = 0 SWEAT= 42>
CIN = 0 HWBZ= 0.
900| Tc = 19.1 SHEAR= 42.
SREH = 0 LAPSE= 5.6 \)/\
1000/ CELL = 308/38 C




2013 Roosevelt (snow)
Fest:  39.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61

x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Sat 02 Feb 13 (0800 MST Sat 02 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

N Full bark:

-

o

crfEE F F

7

>00 Parcel Info '\)Q
T = -84 Td-= % \>\
600| LT =  16.5 LCL = Ve
K = -22 LFC =
1T = 19 EL = W
700| sy1 = 22.6 cCL = : A
PW = 0.48 VGP = 0.0 - \ L
800/ CAPE = 0 SWEAT= 37> VAN, SN/ AN v SV NI, /2 N R
CIN = 0 HWBZ= 0.~ /(* 0\ / A \l/\[lr‘ LA |2
900| Tc =  19.5 SHEAR= 41, PN 24 S e 2R \
SREH = 0 LAPSE= 6.0 \)/ N /\/< L /\ NN
1000| CELL = 304/38 AN AT




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  42.00 h Valid: 1800 UTC Sat 02 Feb 13 (1100 MST Sat 02 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barb:
5ms
100

/é

200

FFEF F

300

o

Yalall

400 Y
500 .
Parcel Info
T =  -6.8Td= -7.
600| LI =  16.9 LCL =
K = -18 LFC =
T = 22 EL =
700| sy1 = 21.0 cCL = 547.
PW = 0.49 VGP = 0.0 < Yy 1
- 0 SWEAT= 37 ; VA L

.

S
<

800/ CAPE \ \
CIN = 0 HUBZ= 0. / (f /\ //\/\\*
900| Tc =  20.0 SHEAR= 41. _ A e
0 LAPSE= 6. 2\)/ /\/(\x/\ \ S\ \/L
299/37 Ao A

|
\ ~A I’

w
O
m
T
1l

1000]| CELL

S

—




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  45.00 h Valid: 2100 UTC Sat 02 Feb 13 (1400 MST Sat 02 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

N Full barb:

100

/é

200

FFFE

300

o

rEr

400

500

.7 Td
600| LT = 16.2 LCL =
1 LFC =

EL =

CCL =
= VGP =
800| CAPE SWEAT=

5
7 ~
1 . 2
0 ~ N <
CIN = 0 HWBZ= o\\%g ///
900| Tc = 20.7 SHEAR= 40. < \ )\
0 LAPSE= 6.1 \)/\\\ /\/‘\\/\ \
35 . L

\ LN A \ N

700 gy1 =

w
O
m
T
I
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O

w

~

1000]| CELL




2013 Roosevelt (snow)
Fcst:  48.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 0000 UTC Sun 03 Feb 13 (1700 MST Sat 02 Feb 13)

Temperature
Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barl?:
5ms”

200

/P

300

FFEE F

o

FEFF

400 O
500
3 Td
600| LI =  15.9 LCL =
K = -9 LFC =
TT = 26 EL =
700| sy1 = 18.2 cCL = :
PW = 0.51 VGP = 0.0
800/ CAPE = 0 SWEAT= 35
CIN = 0 HWBZ= 0.~ L S PAL
900| Tc = 21.4 SHEAR= 34. S
SREH = 0 LAPSE= 6.1 \)/
1000| CELL = 288/36 - e




2013 Roosevelt (snow)
Fest:  51.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Sun 03 Feb 13 (2000 MST Sat 02 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

Full barl?:
5ms”

FFF F F

o

0

FEFFE

0
500—
Q
o)
T = -55Td- EADN
600| LI =  16.6 LCL = S
K = -11 LFC =
T = 24 EL = P W
700| sy1 = 19.3 coL = . R
PW =  0.48 VGP = 0.0 ~
800| CAPE = 0 SWEAT= 32 , 7S - - -
CIN = 0 HWBZ= 0.5 X RN ///\ NS A
900| Te = 22.4 SHEAR= 33. sy Ny NS0 N A s il gt e
SREH = 0 LAPSE= 6.1 \)/‘\ N /(\/ \ /\% r N A
- N e A
1000 CELL = 283/36 N 7N A N V7 A W A7 N LA W




2013 Roosevelt (snow)
54.00 h

Fest:

Temperature

Dewpoint temperature

100

200

300

400

500

600

700

800

900
1000

x,y=141.27,171.61
X,y=141.27,171.61
Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Sun 03 Feb 13 (2300 MST Sat 02 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

N Full bark:

FFEFE

o

FZOF FF

Parcel

T = -6.1
LT = 17.2
K = -12
T = 23
SWI = 20.0
PW = 0.48
CAPE = 0
CIN = 0
Tc = 22.7
SREH = 0
CELL = 277/35

Info

Td =
LCL
LFC
EL

CCL
VGP =
SWEAT=
HWBZ=
SHEAR=

0.
26

\ S ¥
LAPSE= 5. 9\)/ - /\/V\/ \ /\ /
\ X _

\




2013 Roosevelt (snow)
57.00 h

Fest:

Temperature

Dewpoint temperature
Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

100

200

300

400

500

600

700

800

900
1000

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Sun 03 Feb 13 (0200 MST Sun 03 Feb 13)

x,y=141.27,171.61  lat,lon= 40.26,-110.04
x,y=141.27,171.61  lat,lon= 40.26,-110.04

Full bar?:
5ms”

-6.3
17.0
-15
24
19.9
0.49
0
0
22.3
13
270/34

Td
LCL
LFC
EL
CCL
VGP
SWEAT=
HWBZ=

N
<
.
~ \// N
. .
<
> Q
> ™
.
= (
N
N
S N
| > >
\\\ So
l \\s \\\
~1 SN
L. L
AN N
| S ~
S <
l ~/L Y




2013 Roosevelt (snow)
Fcst:  60.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Sun 03 Feb 13 (0500 MST Sun 03 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

Full barl?:
5ms”

FrE o

o

¢ ¢

o
500
W) Q
T = -6.81Td-= \>\,b
600| LI = 16.3 LCL = ‘/\
K = -16 LFC = N
T = 24 EL = W
700| sy1 = 19.6 cCL = . ~_7
PW = 0.51 VGP = 0.0 S oA S
800| CAPE = 0 SWEAT= 19> LS
CIN = 0 HWBZ= 0.
900| Tc = 21.4 SHEAR= 17. S
SREH = 4 LAPSE= 6.3 \)/\
1000| CELL = 266/3 N —




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fecst:  63.00 h Valid: 1500 UTC Sun 03 Feb 13 (0800 MST Sun 03 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barb:
5ms
100 AJ\
A
AW
200
WA —
IN\SE
300\ S -
[
400 S
N -
N\
500
T = -6.7 Td =
600| LT = 15.5 LCL =
K = -15 LFC =
1T = 26 EL =
700| sy1 = 18.8 CCL =
PW = 0.57 VGP =
800| CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 19.1 SHEAR=
SREH = 0 LAPSE=
1000| CELL = 262/34




2013 Roosevelt (snow)
Fcst:  66.00 h
Temperature x,y=141.27,171.61
Dewpoint temperature x,y=141.27,171.61
Horizontal wind vectors x,y=141.27,171.61

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Init: 0000 UTC Fri O1 Feb 13

Valid: 1800 UTC Sun 03 Feb 13 (1100 MST Sun 03 Feb 13)

Full barb:
S5ms
100 M\
N
[N\
200
W
W
300 o W
-
N
400 N
\ N\
500 * .
Parcel Info
T = 52 Td-=
600| L1 =  14.4 LCL =
K = -14 LFC =
TT = 30 EL =
700| sy1 = 16.5 CCL = p L
PW = 0.65 VGP = O. §
800/ CAPE = 0 SWEAT= 19\ i -
CIN = 0 HWBZ= 0. \/\,4\ /// \ A S AL
900| Te = 17.7 SHEAR= 2 xS ] S
SREH = 0 LAPSE= 7. 2\)/~ /\/(\/ \ /~\ / ‘*&\/ |
1000| CELL = 264/32 AN e




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  69.00 h Valid: 2100 UTC Sun 03 Feb 13 (1400 MST Sun 03 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barb:
5ms
100

ﬁ

F

200

FEE ¢ ¢ F

300
Q
400
500 s ~
Parcel Info
T = 4.0 Td =
600| LI = 12.8 LCL =
K = -10 LFC =
T = 32 EL =
700| sy1 = 149 cclL =
PW = 0.63 VGP =
800/ CAPE = 0 SWEAT= S
CIN = 0 HWBZ= / |
900/ Tc = 17 1 SHEAR= 21. , P _
SREH = 0 LAPSE= 7. 6\)/ “ /\/(\/ \ / \*r/ x‘/ } |
1000/| CELL = 276/25 A A R <




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest:  72.00 h Valid: 0000 UTC Mon 04 Feb 13 (1700 MST Sun 03 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Fgllmbaslj?:

100

200

300

400

500

T = -4.9 Td = -5.8 N\~
600| LI = 12.8 LCL = 741.
K = -8 LFC = 0.
T = 30 EL = 0.\,
700| sy1 = 16.5 CCL = 577.
PW = 0.62 VGP = 0.0
800/ CAPE = 0 SWEAT= 22
CIN = 0 HWBZ= 0. |
900/ Tc = 17.1 SHEAR= 25. sy N N N2V ) e P _
SREH = 11 LAPSE= 7.0 \)/\ AN \‘;~/\ \ \\*r /) /x‘ } |
1000 CELL = 309720 N YA AN VA N A I A VA




2013 Roosevelt (snow)
Fest:  75.00 h
Temperature x,y=141.27,171.61
Dewpoint temperature x,y=141.27,171.61
Horizontal wind vectors x,y=141.27,171.61

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Mon 04 Feb 13 (ZOOO MST Sun 03 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5ms”

%

200

300

400

500

-5.5 Td -6.2

600| LI =  13.7 LCL = 735.

K = -10 LFC = 0.

T = 29 EL = 0.
700| sy1 = 17.0 cCL = 556.

PW = 0.48 VGP = 0.0 -
800| CAPE = 0 SWEAT= 21 >

CIN = 0 HWBZ= 0. /
900| Tc = 18.3 SHEAR= 21.

SREH = 6 LAPSE= 6.8 \)/‘\ /N
1000| CELL = 348/21 S «




2013 Roosevelt (snow)
Fcst:  78.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Mon 04 Feb 13 (2300 MST Sun 03 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

500

Full barl?:
5ms”

«

-7.2 Td . .

600| LT = 14.5 LCL \ - - ‘| S

K = 4L = 0] AN X \\ VA U N BN T

TT = 25 EL = 0.0 N e B N 5y 20 Vo S ©
7000 su1 = 195 CCL = 529. XN A ) HATCL v T T

PW = 0.45 VGP = 0.0 NG/ 7\ “~~\ / A A e B
800/ CAPE = 0 SWEAT= 23 =D7AN e A Do A7 I =

CIN = 0 HWBZ= 0. % ///\ VAN \l/\[lr‘ LA

Tc =  20.3 SHEAR= 24, N S N A |
900 e ] -

SREH = 69 LAPSE= 6.5 \)/*\\ AN N K \/&‘ A
1000 CELL = 354726 N YA AN VAR N A W A VA




2013 Roosevelt (snow)
Fest:  81.00 h

Temperature
Dewpoint temperature

x,y=141.27,171.61

x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Mon 04 Feb 13 (0200 MST Mon 04 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

Full bar?:
5ms”

200

300

400

500

T = -75Td-
600| LT = 16,5 LCL -

K =  -18 LFC =

T = 23 EL -
700| sy1 = 20.4 ccL =

PU =  0.43 VGP = 0.0
800| CAPE = 0 SWEAT= 33

CIN = 0 HWBZ= 0.~ \\/’i\
900| Tc = 20.9 SHEAR= 32,

SREH = 79 LAPSE= 6.6 \)/\
1000| CELL = 340/25 e

Parcel

Info




2013 Roosevelt (snow)
Fcst:  84.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61

x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 1200 UTC Mon 04 Feb 13 (0500 MST Mon 04 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5ms”

200

300

e \!

400

500

Parcel Info

T = 7.6 Td =
600 LI = 17.9 LCL =
K = -18 LFC =
TT = 21 EL =
700| sy1 = 21.5 cCL =
PW = 0.45 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900! Tc = 22.7 SHEAR=
SREH = 58
1000| CELL =

.0
36

0 /Q
N\ \
30 S

ARV V/A oA
//: A\ \ /\ ‘ . ‘!

58 LAPSE = 60\)/\ \/(/\\ Yo
328/28 . \\~\ \ *r\

NS




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst:  87.00 h Valid: 1500 UTC Mon 04 Feb 13 (0800 MST Mon 04 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Fgllmbaslj?:

100

200

300

400

500

Td

600| LI = 18.7 LCL
K = -20 LFC
T = 19 EL
700| sy1 = 22.7 coL
PW = 0.50 VGP
800/| CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900| Tc = 23.6 SHEAR=
SREH = 27
1000| CELL = 319/30




2013 Roosevelt (snow)
Fest:  90.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Mon 04 Feb 13 (1100 MST Mon 04 Feb 13)

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barl?:
5ms”

200

300

400

500

Td

600| LI = LCL
K = -18 LFC
TT = 20 EL
700| sy1 = 22.0 ccL
PW = 0.64 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 23.8 SHEAR=
SREH = 0
1000| CELL = 311/31

0. \ / \\\/ //\;\\\\ 7\ ‘\\\ \‘/\/\\IA . | B e 5 .
39, NSNS\ O N A N

SN~ N
LAPSE= 5.4 \)/~\ h // /\
AV 4

e
A~
L
/
rd




2013 Roosevelt (snow)
Fest:  93.00 h

Init: 0000 UTC Fri O1 Feb 13
Valid: 2100 UTC Mon 04 Feb 13 (1400 MST Mon 04 Feb 13)

Temperature
Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barl?:
5ms”

200

300

o

400
500
T = 5.3 Td = -6.6 -
600| LI =  16.5 LCL = 744.
K = -9 LFC 0.
TT = 23 EL 0.
700| sw1 = 20.0 CCL = 532.
PW =  0.86 VGP 0.0
800| CAPE = 0 SWEAT= 36> : S
CIN = 0 HWBZ= 0.~ by |
900| Tc = 22.0 SHEAR= 36. N LN . P
SREH = 35 LAPSE= 5.4 \)/\\\ N /(\/ \ ‘A N T
1000 CELL = 316/30 % D *r\ \ ‘\" S L M

NS




2013 Roosevelt (snow)
Fest:  96.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61

x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0000 UTC Tue 05 Feb 13 (1700 MST Mon 04 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5ms”

200

300

400

500

Parcel Info

T = 6.1 Td =
600 LI = 16.3 LCL =
K = -6 LFC =
TT = 22 EL =
700] gy1 20.8 CCL =
PW = 0.89 VGP =
800/ CAPE = 0 SWEAT=
CIN 0 HWBZ=
900]| Tc = 22.0 SHEAR=
SREH = 70
1000/ CELL = 328/30

\/ //

\
- \

\_/
—
’__’/

/>§>

3
34

/// N

LAPSE= 55\)/\/\/(\/\ ‘%/
)

—
—
/
/
/




2013 Roosevelt (snow)
Fest:  99.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0300 UTC Tue 05 Feb 13 (2000 MST Mon 04 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5ms”

200

300

400

>00 Parcel Info
T = -7.0 Td =
600| LI = 16.0 LCL =
K = -6 LFC =
1T = 21 EL =
700| sy1 = 21.6 CCL =
PW = 0.71 VGP =
800/ CAPE = 0 SWEAT=
CIN = 0 HWBZ=
900]| Tc = 22.0 SHEAR=
SREH = 33 LAPSE=
1000| CELL = 334/33

7.0 X

741 .
0.
0.

535

44\

0.
35.

\ \
58/\




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 102.00 h Valid: 0600 UTC Tue 05 Feb 13 (2300 MST Mon 04 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Fullmbaslj?:

100

£ oo

200

300

o

400

500

Td

600| L1 = 16.7 LCL
K = -8 LFC
TT = 18 EL .
700\ sy1 = 22.9 cCcL = 517.
PW = 0.69 VGP = 0.0
800/ CAPE = 0 SWEAT= 38
CIN = 0 HWBZ= 0.~
900| Tc = 23.4 SHEAR= 38.
SREH = 24 LAPSE= 5.8 \)/
1000| CELL = 328/32 -




2013 Roosevelt (snow)
Fcst: 105.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

100

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Tue 05 Feb 13 (0200 MST Tue 05 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full bar?:
5m s~

200

300

400

>00 Parcel Info
T = -8.2Td= -8.1
600| LI = 17.5 LCL = 730.
K = -12 LFC = 0.
ool 1T - 17 EL = 0.
SWI = 23.5 CCL - 508
PW =  0.78 VGP = J/ \< 9&\
800/ CAPE = 0 SWEAT= 38 . L. Y / - S
CIN = 0 HWBZ= 0. \\/'\( ///~\ /// S LA
900| Te =  24.3 SHEAR= 32. _ \ S ] S
SREH = 0 LAPSE= 6.2 / . /\/(\/ \ /~\ / ‘w\/ b
1000/ CELL = 314/28 \ L SL/ —

A




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst: 108.00 h Valid: 1200 UTC Tue 05 Feb 13 (0500 MST Tue 05 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barb:
5ms
100

%

200

300

400

500

Parcel Info

T = -8.6 Td= -8.6 \‘\
600| L1 = 18.2 LCL = 740
K = -10 LFC =
T = 15 EL =
700] sy1 24 .6 CCL = 506
PW =  0.85 VGP =
800/ CAPE = 0 SWEAT= 37 > . -
CIN 0 HWBZ= 0. ’ X . |
900| Tc = 24.9 SHEAR= 31. YIVAN) SN AR BN -
SREH = 35 LAPSE= 6.1 \)/ N /\/(\/ \ /\ VAR S A
1000| CELL = 301/29 \ *r\ : 1‘/, - ‘L/ ll e




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 111.00 h Valid: 1500 UTC Tue 05 Feb 13 (0800 MST Tue 05 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barl?:
5ms”

100

r

r

F

200

300

o

FEEEE F

400 N
\it
500 Parcel Info - '\)Q
T = -8.1 Td = -8.5 \. H\\>\
600| LI =  18.0 LCL = 744. W
K = -8 LFC = 0.
TT = 16 EL = 0.2\ S W
700) sy1 = 24.0 cCL = 512, =
PW = 0.92 VGP = 0.0
800| CAPE - 0 SWEAT= 32> £ =54
CIN = 0 HWBZ= 0.~ /\(—/ /// - \ /// \ S A A
900| Te = 24.4 SHEAR= 30. \ S ] S
SREH = 61 LAPSE= 5. 9\)/ N /\/(\/ \ /\ ARSI /
1000/ CELL = 291/28 \ *r\ AR ‘L/ [ e




2013 Roosevelt (snow)
Fest: 114.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Tue 05 Feb 13 (1100 MST Tue 05 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

500

T = -7.3Td= -8.0
600| L1 =  17.8 LCL = 738
K = -8 LFC =
TT = 17 EL =
700| sy1 = 23.4 cCL = 507
PW =  0.92 VGP = /
800/| CAPE = 0 SWEAT= 35 X > _
CIN = 0 HWBZ= _ \\//\Q / \ V lI
900| Te = 25.1 SHEAR= 32 : S S VA N _
SREH = 46 LAPSE= 5. 7\)/ \ /\/‘\/ \ /\ , \/L\ .
1000/ CELL = 273/28 UV S 7 S

Full bar?:
5ms”

2

r

Parcel

Info




2013 Roosevelt (snow)
Fest: 117.00 h
Temperature

Dewpoint temperature
Horizontal wind vectors

100

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Init: 0000 UTC Fri O1 Feb 13

Valid: 2100 UTC Tue 05 Feb 13 (1400 MST Tue 05 Feb 13)
x,y=141.27,171.61
x,y=141.27,171.61
x,y=141.27,171.61

Full bar?:
5ms”

%

200

i

300

400

500

Parcel Info

T =  -4.87Td= -6.1
600| L1 =  15.4 LCL = 729,

K = -5 LFC = 0.

TT = 22 EL = 0.
700| syr = 20.2 cCL = 526. o \ '

PW = 0.95 VGP = 0.0 Nl s N W v A A AN X
800/ CAPE = 0 SWEAT= 36 ° K <7AN 2 A Lo A7 T =]

CIN = 0 HWBZ=  0.% /(*l /// N N ‘l/‘%'r\ s
900| Tc = 23.6 SHEAR= 37. syl N\ S A A S S B e =
SREH = 0 LAPSE= 5.8 \)/~\ /\/ \ /\ / \/k S

1000]| CELL = 260/30 3 X — LA —

AN \




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 120.00 h Valid: 0000 UTC Wed 06 Feb 13 (1700 MST Tue 05 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full bar?:
5ms™
100
N
200
300
400
500 - =
Parcel Info

T = -4.8Td= -6.0 N
600| LI = 14.2 LCL = 724.

K = -6 LFC = 0.

T = 23 EL = 0.2\
700| sy1 = 19.5 cCL = 538.

PW = 0.89 VGP = 0.0
800/ CAPE = 0 SWEAT= 40 .

CIN = 0 HWBZ= 0.~ ) 1
900/ Tc = 22.0 SHEAR= 42, VAR N N2V Wit , P _

SREH = 3 LAPSE= 6.0 \)/‘\ N /(\‘;/\ \ )\/\x /) x‘ } s “l
1000] CELL = 252/33 N V7 A N VA W A B U A =




2013 Roosevelt (snow)
Fest: 123.00 h
Temperature

Dewpoint temperature

Init: 0000 UTC Fri O1 Feb 13

Valid: 0300 UTC Wed 06 Feb 13 (2000 MST Tue 05 Feb 13)

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barl?:
5ms”
100
N
W
A\
200
A\
>
300
ST S
o
400 N
\ W
500
-5.9 Td N
600| LI =  13.6 LCL 1
K = -12 LFC % = \\ |r .
1T = 23 EL = 0N AN 2 N3 N )5Y S 207 Y
700| sy1 = 20.2 CCL = 558. K Z&N N AR 'l 7 ~ /-
PW = 0.83 VGP = 0.0 N 7/ /34(\}/ 3\ G eS| I/ AT A
800| CAPE = 0 SWEAT= 39 V3. SEZAN e A Lo AV T
CIN = 0 HWBZ= 0.~ % “F ///\\\ AVEN! \l/\[lr“ LA
900| Te = 19.9 SHEAR= 39, syf NN /A Ny A s il g e e
SREH = 0 LAPSE= 6.2 \)/‘\ N /(\/ \ AN A
- N NSV
1000| CELL = 247736 N 4 A N VA W A N U VA




2013 Roosevelt (snow)
Fest: 126.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0600 UTC Wed 06 Feb 13 (2300 MST Tue 05 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barb:
5ms™
100
< W
%
%
W]
>
200
>
300
. S o
>
400 A
NS \%/
500 : > 4 -
Parcel Info
T = 5.7 Td= -6.7 N ]
600| LI = 12.8 LCL = 712, g
K = -9 LFC = 0.
TT = 25 EL = 0.-\
700| sw1 = 19.0 CCL = 552. 2K -
PW =  0.69 VGP = 0.0 X X 8
800| CAPE = 0 SWEAT= 38 % g - S
CIN = 0 HWBZ= 0. \l/r LA \
900]| Tc = 19.1 SHEAR= 41. G N 74 W) SN P .
SREH = 0 LAPSE= 6.1 \)/‘\ N /(\/ \ SRS
- N NN
1000 CELL = 243/39 NN Y A =




2013 Roosevelt (snow)
Fest: 129.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 0900 UTC Wed 06 Feb 13 (OZOO MST Wed 06 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

100

200

300

400

500

600

700

800

900
1000

Full barb:
5ms”

{

£

K

o

(X

0

o
=
e
m o
1l

O w
m O
— rm
—
I

Parcel Info

Td =

LCL =
LFC =
EL =
CCL =
VGP =
SWEAT=
HWBZ=
SHEAR=

; \ AR
LAPSE= 6.0 \)/\\\ /\\/‘\\\ X

-7.5

724
0.
0.3

/
/ Id
q /
g /
g /
’ /
/
/
/
/

570.
0.0
39 °

O A
S
AN

39.

/
7~

NS AR \




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fest: 132.00 h Valid: 1200 UTC Wed 06 Feb 13 (0500 MST Wed 06 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barl?:
5ms”
100
AN
N\ gy
200 >
300
\ °
400 N
500 \ : \%/
Parcel Info . ,\)Q
T = 7.3 Td= -7.5 N N N
600| LI =  12.6 LCL = 729. Ve
K = -4 LFC = 0.
TT = 25 EL = 0.\ RS
700| sy1 = 19.3 ccL = 574.
PW = 0.62 VGP = 0.0 N> /
800/ CAPE = 0 SWEAT= 39> . s . K/
CIN = 0 HWBZ= 0. /// . b ,' / A
900| Tc = 16.6 SHEAR= 41. . AR\ (25 NS NIVASEE] SN A S \ -~
SREH = 0 LAPSE= 5.8 \)/*\\ /N /y\/ \ )/\*r 1NN A
_ N VA -
1000 CELL = 242/41 N YA AN VA N A S S v ~




2013 Roosevelt (snow)
Fest: 135.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1500 UTC Wed 06 Feb 13 (0800 MST Wed 06 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barb:
5ms”

100

i

f

200

300

o

KX % %

<4

400

500

0

Parcel Info

-8.0 Td
11.2 LCL

-2 LFC

27 EL
18.5 CCL
0.56 VGP
SWEAT=
HWBZ=
SHEAR= 42
LAPSE= 6.

-8.0
734

600 -
700 _

0.
4

800

900
1000

O A
S
AN

/
/ Id
q /
g /
g /
’ /
0
/
/
/
/

0
l‘ \,

’ \‘\3 \ -
2\)/‘\\/\

AN




2013 Roosevelt (snow)
Fest: 138.00 h
Temperature

Dewpoint temperature

x,y=141.27,171.61
x,y=141.27,171.61

Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13
Valid: 1800 UTC Wed 06 Feb 13 (1100 MST Wed 06 Feb 13)
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

Full barb:
5ms™
100
WN—
W
W]
200
>
>
300
N Q @/
>
400 Nt
\ w
500 \%/
S
S »
T =  -6.3Td t \>\
600| LI = 9.8 LCL = N
K = -1 LFC = 0.
TT = 33EL = 0.\ : k > S
700| sw1 = 15.4 cCL = 611, 7 y AT S
PW = 0.47 VGP = 0.07 AN L /
800/ CAPE = 0 SWEAT= 33 ", ~ -

CIN = 0 HWBZ= 0. /// / 78
900| Te =  12.1 SHEAR= 38. L ] - -
SREH = 0 LAPSE= 6.6 \)/\\\ /\/‘\\/\ \

1000| CELL = 248/38 S VD VA N . —




2013 Roosevelt (snow) Init: 0000 UTC Fri O1 Feb 13
Fcst: 141.00 h Valid: 2100 UTC Wed 06 Feb 13 (1400 MST Wed 06 Feb 13)
Temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Dewpoint temperature x,y=141.27,171.61 lat,lon= 40.26,-110.04

Horizontal wind vectors x,y=141.27,171.61 lat,lon= 40.26,-110.04

Full barb:
S5ms
100
ANV
W
W
200
Ny
W
300
o M
AN\
W
400
N Wy |
500
-3.5
600| LI = 7.6
K 3
7T = 40
700| sy1 = 10.8
PW 0.48 .0
800/ CAPE = 0 SWEAT= 27 . A - - <
CIN = 0 HWBZ= 0. \/<Q/'\‘( \\ /\ ‘~\ \\ \x'r\ l' 74
900]| Tc 10.0 SHEAR= 25. ot . bl T =
SREH = 0 LAPSE= 7.0 )/‘\ /\/V\/ \ / \/ x‘\/\ e
1000| CELL = 268/27 AN 7




2013 Roosevelt (snow)
Fcst: 144.00 h
Temperature x,y=141.27,171.61
Dewpoint temperature x,y=141.27,171.61
Horizontal wind vectors x,y=141.27,171.61

Init: 0000 UTC Fri O1 Feb 13

Valid: 0000 UTC Thu 07 Feb 13 (1700 MST Wed 06 Feb 13)

lat,lon= 40.26,-110.04
lat,lon= 40.26,-110.04

lat,lon= 40.26,-110.04

Full ba(?:
5ms
100
LN
W
k_s/
200
N
N
300 W
Q
400 SN
500 ~
Parcel Inf
T = -4.2 Td =
600| LI = 7.5 LCL =
K = 10 LFC =
TT = 39 EL = \
700| sy1 = 11.4 coL = 78
PW =  0.56 VGP = . /?/ >
800/ CAPE = 0 SWEAT= 24> 2l L RNy 7
CIN = 0 HWBZ= 0. 4 \S\// \ //\/ /"rx LA
900/ Tc = 8.6 SHEAR= 25. A\ AVA e
SREH = 0 LAPSE= 6. 6\)/ /\/(\/ \ o/ /ﬂ .
1000]| CELL = 287/21 AN \ ‘\~\ S \L/ N




